



**HAL**  
open science

# A six dimensional compact symplectic solvmanifold without Kähler structures

Marisa Fernandez, Manuel de Leon, Martintxo Saralegi-Aranguren

► **To cite this version:**

Marisa Fernandez, Manuel de Leon, Martintxo Saralegi-Aranguren. A six dimensional compact symplectic solvmanifold without Kähler structures. *Osaka Journal of Mathematics*, 1996, 33, pp.19-35. hal-00870082

**HAL Id: hal-00870082**

**<https://univ-artois.hal.science/hal-00870082>**

Submitted on 7 Oct 2013

**HAL** is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

## A SIX DIMENSIONAL COMPACT SYMPLECTIC SOLVMANIFOLD WITHOUT KÄHLER STRUCTURES

MARISA FERNÁNDEZ, MANUEL de LEÓN and MARTÍN SARALEGUI

(Received September 26, 1994)

### 1. Introduction

There are strong topological conditions for a compact manifold  $M$  of dimension  $2n$  to admit a Kähler structure [20, 10] :

- (i) the Betti numbers  $b_{2i}(M)$  are non-zero for  $1 \leq i \leq n$  ;
- (ii) the Betti numbers  $b_{2i-1}(M)$  are even ;
- (iii)  $b_i(M) \geq b_{i-2}(M)$  for  $1 \leq i \leq n$  ;
- (iv) the Hard Lefschetz Theorem holds for  $M$  ;
- (v) the minimal model of  $M$  is formal (so in particular all Massey products of  $M$  vanish).

Gordon and Benson have proved that if a compact nilmanifold admits a Kähler structure then it is a torus [5] ; more precisely they proved that the condition (iv) fails for any symplectic structure on a non-toral nilmanifold  $M$ . This result was independently proved by Hasegawa [12] by showing that (v) fails for  $M$ .

For a compact solvmanifold  $M$  of dimension 4 it is known that  $M$  has a Kähler structure if and only if it is a complex torus or a hyperelliptic surface. In fact, Auslander and Szczarba in [4] proved that if the first Betti number  $b_1(M)$  of  $M$  is 2,  $M$  is a fiber bundle over  $T^2$  with fiber  $T^2$ . Then by Ue [19]  $M$  has a complex structure only if it is a hyperelliptic surface or a primary Kodaira surface which is a compact nilmanifold. Thus, if  $M$  is a Kähler manifold, it must be a hyperelliptic surface. Since  $1 \leq b_1(M) \leq 4$ ,  $M$  can be a Kähler manifold only if it is a complex torus or a hyperelliptic surface. The fact that a hyperelliptic surface is a solvmanifold follows from Auslander [3]. The above result may be generalized as the following conjecture : A compact solvmanifold has a Kähler structure if and only if it is a finite quotient of a complex torus.

In contrast to the case of compact nilmanifolds there are compact symplectic

---

\*Partially supported by DGICYT-Spain, Proyectos PB89-0571 and PB91-0142

solvmanifolds which are not nilmanifolds that satisfy both conditions (iv) and (v) [6, 11, 9, 2]. More precisely :

(1) There is a family of 4-dimensional compact solvmanifolds  $M^4(k)$  satisfying (i)-(v) which do not admit Kähler structures [11, 9]. In fact,  $M^4(k)$  does not admit complex structures. By using these manifolds it is possible to construct new examples of higher dimension, but we do not know whether any of these examples admit complex or Kähler structures. The problem is that the above results depend strongly on Kodaira's classification of surfaces.

(2) There is a family of six-dimensional compact symplectic non-nilpotent solvmanifolds  $M^6(k)$  satisfying (i)-(v). These manifolds are the natural generalization to dimension 6 of the manifolds  $M^4(k)$  of Fernández and Gray [11]. Unfortunately we do not know whether any of these admit Kähler structures [2]. But it is amazing that the manifolds  $M^6(k)$  have complex structures.

(3) In [6] Benson and Gordon have constructed two examples of non-nilpotent solvable Lie groups of dimension 8, each one of those satisfies one of the conditions (iv) or (v), but not the other.

The purpose of this paper is to construct a compact symplectic (non-nilpotent) solvmanifold  $M^6 = \Gamma/G$  of dimension 6 which does not satisfy either (iv) or (v) and, hence, does not admit Kähler structures. We show that the minimal model of  $M^6$  is not formal by proving that there are non-trivial (quadruple) Massey products, however we remark that all the (triple) Massey products of  $M^6$  vanish. Then the approach used in [7] to show that non-abelian compact nilmanifolds are non formal fails for the solvable case.

Another problem related with the one considered above is the following. Samelson [17] proved that every compact even dimensional Lie group possesses a left invariant complex structure. But the same is not true for non-compact Lie groups. In fact, since the manifold  $M^4(k)$  does not admit complex structures then the corresponding Lie group  $G^4(k)$  does not admit left invariant complex structures (see Cordero, Fernández and Gray [8]). In the same paper they have constructed a 6-dimensional nilpotent Lie group with no left invariant complex structure. Since we do not know whether the manifold  $M^6$  admits complex structures or not, we can not use this method to decide whether  $G$  admits a left invariant complex structure. But from direct computations we prove, in the last section, that  $G$  has no left invariant complex structures.

The authors wish to express their thanks to the referee for many valuable suggestions. In particular, to point us the observation of which are the compact Kähler solvmanifolds of (complex) dimension 2, as well as, the conjecture of which are the compact solvmanifolds of (real) dimension  $2n$  with a Kähler structure.

## 2. The Lie Group $G$

Let  $G$  be the connected and solvable Lie group of dimension 6 consisting of

matrices of the form

$$A = \begin{pmatrix} e^t & 0 & xe^t & 0 & 0 & y_1 \\ 0 & e^{-t} & 0 & xe^{-t} & 0 & y_2 \\ 0 & 0 & e^t & 0 & 0 & z_1 \\ 0 & 0 & 0 & e^{-t} & 0 & z_2 \\ 0 & 0 & 0 & 0 & 1 & t \\ 0 & 0 & 0 & 0 & 0 & 1 \end{pmatrix}$$

where  $t, x, y_i, z_i \in \mathbf{R}$ ,  $1 \leq i \leq 2$ . Then, a global system of coordinates  $\{t, x, y_1, y_2, z_1, z_2\}$  for  $G$  is given by

$$t(A) = t, x(A) = x, y_i(A) = y_i, z_i(A) = z_i, 1 \leq i \leq 2;$$

and a standard computation shows that a basis for the left invariant 1-forms on  $G$  consists of

$$\begin{aligned} \alpha &= dt, \beta = dx, \gamma_1 = e^{-t} dy_1 - xe^{-t} dz_1, \\ \gamma_2 &= e^t dy_2 - xe^t dz_1, \delta_1 = e^{-t} dz_1, \delta_2 = e^t dz_2. \end{aligned}$$

Then we have

$$(2.1) \quad \begin{aligned} d\alpha &= d\beta = 0, d\gamma_1 = -\alpha \wedge \gamma_1 - \beta \wedge \delta_1, \\ d\gamma_2 &= \alpha \wedge \gamma_2 - \beta \wedge \delta_2, d\delta_1 = -\alpha \wedge \delta_1, d\delta_2 = \alpha \wedge \delta_2. \end{aligned}$$

We denote by  $\{T, X, Y_1, Y_2, Z_1, Z_2\}$  the dual basis of left invariant vector fields. From (2.1) we obtain

$$(2.2) \quad \begin{aligned} [T, Y_1] &= Y_1, [T, Y_2] = -Y_2, [T, Z_1] = Z_1, \\ [T, Z_2] &= -Z_2, [X, Z_1] = Y_1, [X, Z_2] = Y_2, \end{aligned}$$

and the other brackets being zero.

Let  $\mathcal{G}$  be the Lie algebra of  $G$ . From (2.2) we compute the derived series of  $\mathcal{G}$ :

$$D^0 \mathcal{G} = \mathcal{G}, D^1 \mathcal{G} = [\mathcal{G}, \mathcal{G}] = \langle Y_1, Y_2, Z_1, Z_2 \rangle, D^r \mathcal{G} = 0, 2 \leq r$$

and the descending central series of  $\mathcal{G}$ :

$$C^0 \mathcal{G} = \mathcal{G}, C^1 \mathcal{G} = [\mathcal{G}, \mathcal{G}] = \langle Y_1, Y_2, Z_1, Z_2 \rangle, C^r \mathcal{G} = [\mathcal{G}, C^1 \mathcal{G}] = C^1 \mathcal{G}, 2 \leq r.$$

Then  $G$  is a *non-nilpotent solvable Lie group*. One says that a Lie group  $G$  with Lie algebra  $\mathcal{G}$  is completely solvable if  $ad(X): \mathcal{G} \rightarrow \mathcal{G}$  has only real eigenvalues for each  $X \in \mathcal{G}$ . Equivalently,  $\mathcal{G}$  is isomorphic to a Lie subalgebra of the real upper triangular matrices in  $gl(n, \mathbf{R})$  for some  $n$ . A simple inspection shows that  $G$  is completely solvable.

Alternatively,  $G$  may be described as a semi-direct product  $G = \mathbf{R}^2 \rtimes_{\phi} \mathbf{R}^4$ , where  $\phi(t, x)$  is the linear transformation of  $\mathbf{R}^4$  given by the matrix

$$\begin{pmatrix} e^t & 0 & xe^t & 0 \\ 0 & e^{-t} & 0 & xe^{-t} \\ 0 & 0 & e^t & 0 \\ 0 & 0 & 0 & e^{-t} \end{pmatrix}$$

We notice that

$$\begin{pmatrix} e^t & 0 & xe^t & 0 \\ 0 & e^{-t} & 0 & xe^{-t} \\ 0 & 0 & e^t & 0 \\ 0 & 0 & 0 & e^{-t} \end{pmatrix} = \begin{pmatrix} e^t & 0 & 0 & 0 \\ 0 & e^{-t} & 0 & 0 \\ 0 & 0 & e^t & 0 \\ 0 & 0 & 0 & e^{-t} \end{pmatrix} \begin{pmatrix} 1 & 0 & x & 0 \\ 0 & 1 & 0 & x \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix}$$

Thus the operation group in  $G$  is given by

$$(t, x, y_1, y_2, z_1, z_2)(t', x', y'_1, y'_2, z'_1, z'_2) \\ = (t+t', x+x', y'_1e^t + xz'_1e^t + y_1, y'_2e^{-t} + xz'_2e^{-t} + y_2, z'_1e^t + z_1, z'_2e^{-t} + z_2)$$

Then  $G = \mathbf{R}^2 \rtimes_{\phi} \mathbf{R}^4$ , where  $\mathbf{R}^2$  is a connected abelian subgroup and  $\mathbf{R}^4$  is the nilpotent commutator subgroup.

REMARK 1. Let  $H$  be the connected Lie group of dimension 7 consisting of matrices of the form

$$A = \begin{pmatrix} e^t & 0 & x_1e^t & 0 & 0 & y_1 \\ 0 & e^{-t} & 0 & x_2e^{-t} & 0 & y_2 \\ 0 & 0 & e^t & 0 & 0 & z_1 \\ 0 & 0 & 0 & e^{-t} & 0 & z_2 \\ 0 & 0 & 0 & 0 & 1 & t \\ 0 & 0 & 0 & 0 & 0 & 1 \end{pmatrix}$$

where  $t, x_i, y_i, z_i \in \mathbf{R}$ ,  $1 \leq i \leq 2$ . We notice that  $G$  is a closed subgroup of  $H$ . In fact,  $G$  is the Lie subgroup of the matrices  $A \in H$  such that  $x_1 = x_2$ . As above  $H$  may be described as a semi-direct product  $H = \mathbf{R}^3 \rtimes_{\tilde{\phi}} \mathbf{R}^4$ , where  $\tilde{\phi}(t, x_1, x_2)$  is the linear transformation of  $\mathbf{R}^4$  given by the matrix

$$\begin{pmatrix} e^t & 0 & x_1e^t & 0 \\ 0 & e^{-t} & 0 & x_2e^{-t} \\ 0 & 0 & e^t & 0 \\ 0 & 0 & 0 & e^{-t} \end{pmatrix}$$

A direct computation shows that a basis for the left invariant 1-forms on  $H$  consists of

$$\alpha = dt, \beta_1 = dx_1, \beta_2 = dx_2, \gamma_1 = e^{-t}dy_1 - x_1e^{-t}dz_1, \\ \gamma_2 = e^tdy_2 - x_2e^tdz_1, \delta_1 = e^{-t}dz_1, \delta_2 = e^tdz_2.$$

Then we have

$$d\alpha=0, d\beta_1=-\alpha \wedge \beta_1, d\beta_2=-\alpha \wedge \beta_2, d\gamma_1=-\alpha \wedge \gamma_1-\beta \wedge \delta_1, \\ d\gamma_2=\alpha \wedge \gamma_2-\beta \wedge \delta_2, d\delta_1=-\alpha \wedge \delta_1, d\delta_2=\alpha \wedge \delta_2.$$

If we put  $G_2=H \times S^1$ , then  $G_2$  is the Lie group considered by Benson and Gordon [6].

### 3. The solvmanifold $M^6$

We shall construct a cocompact discrete subgroup  $\Gamma$  of  $G$ .

Let  $B \in SL(2, Z)$  be a unimodular matrix with integer entries and with distinct real eigenvalues, say  $\lambda$  and  $\lambda^{-1}$ . Take  $a_0 = \log \lambda$ , i.e.  $e^{a_0} = \lambda$ . Then there exists a matrix  $P \in Gl(2, \mathbf{R})$  such that

$$PBP^{-1} = \begin{pmatrix} \lambda & 0 \\ 0 & \lambda^{-1} \end{pmatrix}$$

Consider the subgroup  $\Gamma_0 = (a_0 Z) \times Z$  of  $\mathbf{R}^2$ . We can easily check that the lattice  $L$  on  $\mathbf{R}^4$  defined by

$$L = ((m_1, m_2)P^t, (n_1, n_2)P^t),$$

where  $m_1, m_2, n_1, n_2 \in Z$  and  $P^t$  is the transpose of  $P$ , is invariant under the subgroup  $\Gamma_0$ . Thus,  $\Gamma = \Gamma_0 \circlearrowleft L$  is a cocompact subgroup of  $G$ .

We denote by  $M^6 = G/\Gamma$  the compact quotient manifold. Then  $M^6$  is a six dimensional non-nilpotent completely solvable manifold.

REMARK 2. Alternatively, the manifold  $M^6$  may be viewed as the total space of a  $T^4$ -bundle over  $T^2$ . In fact, let  $T^4 = \mathbf{R}^4/L$  be the 4-dimensional torus and  $\rho : Z^2 \rightarrow \text{Diff}(T^4)$  the representation defined as follows:  $\rho(p, q)$  represents the transformation of  $T^4$  covered by the linear transformation of  $\mathbf{R}^4$  given by the matrix

$$\begin{pmatrix} e^{pa_0} & 0 & qe^{pa_0} & 0 \\ 0 & e^{-pa_0} & 0 & qe^{-pa_0} \\ 0 & 0 & e^{pa_0} & 0 \\ 0 & 0 & 0 & e^{-pa_0} \end{pmatrix}$$

This representation determines an action  $A : Z^2 \times (T^4 \times \mathbf{R}^2) \rightarrow T^4 \times \mathbf{R}^2$  defined by

$$A((p, q), [y_1, y_2, z_1, z_2], (r_1, r_2)) = (\rho(p, q)([y_1, y_2, z_1, z_2]), (r_1 + p, r_2 + q)).$$

Then  $\pi : T^4 \times_{Z^2} \mathbf{R}^2 \rightarrow T^2$  is a  $T^4$ -bundle where the projection  $\pi$  is given by

$$\pi([y_1, y_2, z_1, z_2], (r_1, r_2)) = [(r_1, r_2)].$$

In fact, this bundle is the suspension of the representation  $\rho$  (see [14]). Then it is clear that  $T^4 \times_{\mathbb{Z}^2} \mathbf{R}^2$  may be canonically identified with  $M^6$ .

Next, we shall compute the real cohomology of  $M^6$ . Since  $M^6$  is completely solvable we can use a theorem of Hattori [13] which asserts that the de Rham cohomology ring  $H^*(M^6, \mathbf{R})$  is isomorphic with the cohomology ring  $H^*(\mathcal{G})$  of the Lie algebra  $\mathcal{G}$  of  $G$ . For simplicity we denote the left invariant forms  $\{\alpha, \beta, \gamma_1, \gamma_2, \delta_1, \delta_2\}$  and their projections onto  $M^6$  by the same symbols. Thus, we obtain :

$$\begin{aligned} H^0(M^6, \mathbf{R}) &= \{1\}, \\ H^1(M^6, \mathbf{R}) &= \{[\alpha], [\beta]\}, \\ H^2(M^6, \mathbf{R}) &= \{[\alpha \wedge \beta], [\delta_1 \wedge \delta_2], [\gamma_1 \wedge \delta_2 + \gamma_2 \wedge \delta_1]\}, \\ H^3(M^6, \mathbf{R}) &= \{[\alpha \wedge \delta_1 \wedge \delta_2], [\beta \wedge \gamma_1 \wedge \gamma_2], [\beta \wedge \gamma_1 \wedge \delta_2], [\alpha \wedge \gamma_1 \wedge \delta_2 + \alpha \wedge \gamma_2 \wedge \delta_1]\}, \\ H^4(M^6, \mathbf{R}) &= \{[\alpha \wedge \beta \wedge \gamma_1 \wedge \gamma_2], [\alpha \wedge \beta \wedge \gamma_1 \wedge \delta_2], [\gamma_1 \wedge \gamma_2 \wedge \delta_1 \wedge \delta_2]\}, \\ H^5(M^6, \mathbf{R}) &= \{[\alpha \wedge \gamma_1 \wedge \gamma_2 \wedge \delta_1 \wedge \delta_2], [\beta \wedge \gamma_1 \wedge \gamma_2 \wedge \delta_1 \wedge \delta_2]\}, \\ H^6(M^6, \mathbf{R}) &= \{[\alpha \wedge \beta \wedge \gamma_1 \wedge \gamma_2 \wedge \delta_1 \wedge \delta_2]\}. \end{aligned}$$

Thus,

$$\begin{aligned} b_0(M^6) &= b_6(M^6) = 1, \\ b_1(M^6) &= b_5(M^6) = 2, \\ b_2(M^6) &= b_4(M^6) = 3, \\ b_3(M^6) &= 4. \end{aligned}$$

Hence  $M^6$  satisfies conditions (i)-(iii).

Now let  $\omega$  be the 2-form on  $M^6$  given by

$$(3.1) \quad \omega = a(\alpha \wedge \beta) + b(\delta_1 \wedge \delta_2) + c(\gamma_1 \wedge \delta_2 + \gamma_2 \wedge \delta_1),$$

where  $a, b, c \in \mathbf{R}$ . A simple computation shows that  $d\omega = 0$  and that

$$\omega^3 = 4ac^2(\alpha \wedge \beta \wedge \gamma_1 \wedge \gamma_2 \wedge \delta_1 \wedge \delta_2).$$

Hence  $\omega^3 \neq 0$  if and only if  $a \neq 0, c \neq 0$ . This proves the following

**Proposition 3.1.**  *$M^6$  is a compact symplectic manifold. Let  $\omega$  be a 2-form on  $M^6$  given by (3.1), where  $a, b, c \in \mathbf{R}$  and  $a \neq 0, c \neq 0$ . Then  $\omega$  is a symplectic form.*

A compact Kähler manifold satisfies the Hard Lefschetz Theorem. In order to continue the analysis of the manifold  $M^6$  we introduce the following

**DEFINITION.** *Let  $(M^{2n}, \omega)$  be a compact symplectic manifold. We say that  $(M^{2n}, \omega)$  satisfies the Hard Lefschetz Theorem if the mappings*

$$\wedge \omega^{n-p} : H^p(M^{2n}, \mathbf{R}) \longrightarrow H^{2n-p}(M^{2n}, \mathbf{R})$$

are all isomorphisms,  $0 \leq p \leq n$ .

(We notice that in [16], McDuff calls  $(M^{2n}, \omega)$  a **Lefschetz manifold** when the mapping  $\wedge \omega^{n-1} : H^1(M^{2n}, \mathbf{R}) \longrightarrow H^{2n-1}(M^{2n}, \mathbf{R})$  is an isomorphism. Our present definition is more restrictive.)

**Theorem 3.1.**  $M^6$  does not satisfy the Hard Lefschetz Theorem.

*Proof.* Let us compute the morphism

$$\wedge[\omega] : H^2(M^6, \mathbf{R}) \longrightarrow H^4(M^6, \mathbf{R}).$$

We obtain

$$\begin{aligned} \wedge[\omega]([\alpha \wedge \beta]) &= 2c[\alpha \wedge \beta \wedge \gamma_1 \wedge \delta_2], \\ \wedge[\omega]([\delta_1 \wedge \delta_2]) &= 0, \\ \wedge[\omega]([\gamma_1 \wedge \delta_2 + \gamma_2 \wedge \delta_1]) &= 2a[\alpha \wedge \beta \wedge \gamma_1 \wedge \delta_2] + 2c[\gamma_1 \wedge \gamma_2 \wedge \delta_1 \wedge \delta_2]. \end{aligned}$$

This implies that  $\wedge[\omega] : H^2(M^6, \mathbf{R}) \longrightarrow H^4(M^6, \mathbf{R})$  is not an isomorphism. ■.

**Corollary 1.** The compact symplectic solvmanifold  $M^6$  does not admit Kähler structures.

We note that a straightforward computation shows that all the (triple) Massey products of  $M^6$  vanish. However we have the following

**Theorem 3.2.** The minimal model of  $M^6$  is not formal.

*Proof.* It is sufficient to exhibit a (quadruple) non-trivial Massey product. For this we recall that if there are cohomology classes  $[\lambda_1] \in H^p(M^6, \mathbf{R})$ ,  $[\lambda_2] \in H^q(M^6, \mathbf{R})$ ,  $[\lambda_3] \in H^r(M^6, \mathbf{R})$  and  $[\lambda_4] \in H^s(M^6, \mathbf{R})$  (represented by differential forms  $\lambda_1, \lambda_2, \lambda_3$  and  $\lambda_4$ ) such that the (triple) Massey products  $\langle [\lambda_1], [\lambda_2], [\lambda_3] \rangle$  and  $\langle [\lambda_2], [\lambda_3], [\lambda_4] \rangle$  are zero, then there exists the (quadruple) Massey product  $\langle [\lambda_1], [\lambda_2], [\lambda_3], [\lambda_4] \rangle$ . Moreover, it is zero if and only if there are differential forms  $f_1 \in \Omega^{p+q-1}(M^6)$ ,  $f_2 \in \Omega^{q+r-1}(M^6)$ ,  $f_3 \in \Omega^{r+s-1}(M^6)$ ,  $\mu_1 \in \Omega^{p+q+r-2}(M^6)$  and  $\mu_2 \in \Omega^{q+r+s-2}(M^6)$  satisfying :

- (1)  $\lambda_1 \wedge \lambda_2 = df_1$ ,
- (2)  $\lambda_2 \wedge \lambda_3 = df_2$ ,
- (3)  $\lambda_3 \wedge \lambda_4 = df_3$ ,
- (4)  $\lambda_1 \wedge f_2 + (-1)^{p+1} f_1 \wedge \lambda_3 = d\mu_1$ ,
- (5)  $\lambda_2 \wedge f_3 + (-1)^{q+1} f_2 \wedge \lambda_4 = d\mu_2$ ,
- (6) the cohomology class  $[(-1)^{p+1} \lambda_1 \wedge \mu_2 + (-1)^{q+1} \mu_1 \wedge \lambda_4 + f_1 \wedge f_3]$  is zero in  $H^{p+q+r+s-2}(M^6, \mathbf{R})$ .

Now, because all the (triple) Massey products on  $M^6$  are zero, it is defined the (quadruple) Massey product  $\langle [\delta_1 \wedge \delta_2], [\beta], [\beta], [\beta] \rangle$ . We shall prove that is non-zero.

Let us suppose that  $\langle [\delta_1 \wedge \delta_2], [\beta], [\beta], [\beta] \rangle = 0$ . Then, there exist differential forms  $f_2, f_3, \mu_2 \in \Omega^1(M^6)$  and  $f_1, \mu_1 \in \Omega^2(M^6)$  satisfying

$$\begin{aligned}
 (1') \quad & \delta_1 \wedge \delta_2 \wedge \beta = df_1, \\
 (2') \quad & 0 = df_2, \\
 (3') \quad & 0 = df_3, \\
 (4') \quad & \delta_1 \wedge \delta_2 \wedge f_2 - f_1 \wedge \beta = d\mu_1, \\
 (5') \quad & \beta \wedge f_3 + f_2 \wedge \beta = d\mu_2, \\
 (6') \quad & [-\delta_1 \wedge \delta_2 \wedge \mu_2 + \mu_1 \wedge \beta + f_1 \wedge f_3] = 0.
 \end{aligned}$$

Since  $\delta_1 \wedge \delta_2 \wedge \beta = d(-\gamma_1 \wedge \delta_2)$ , from (1') we get a differential form  $f_1'$  with  $df_1' = 0$  and such that

$$(7) \quad f_1 = -\gamma_1 \wedge \delta_2 + f_1'.$$

Substituting (7) in (4') we have

$$(8) \quad \delta_1 \wedge \delta_2 \wedge f_2 + \gamma_1 \wedge \delta_2 \wedge \beta + f_1' \wedge \beta = d\mu_1.$$

From (8) and (2') it follows that the cohomology class  $[\delta_1 \wedge \delta_2] \wedge [f_2]$  belongs to  $[\beta]H^*(M^6, \mathbf{R})$ ; and so

$$(9) \quad f_2 = t\beta \text{ for some } t \in \mathbf{R}.$$

Moreover, because the cohomology class  $[\delta_1 \wedge \delta_2 \wedge \beta]$  is zero, from (8) and (9) we obtain  $[\beta \wedge \gamma_1 \wedge \delta_2] = [\beta] \wedge [f_1']$ , and then we have

$$(10) \quad f_1' = \frac{1}{2}(\gamma_1 \wedge \delta_2 + \gamma_2 \wedge \delta_1) + p\alpha \wedge \beta + q\delta_1 \wedge \delta_2,$$

for some  $p, q \in \mathbf{R}$ . Now, from (7) and (10) we get

$$(11) \quad f_1 = \frac{1}{2}(\gamma_2 \wedge \delta_1 - \gamma_1 \wedge \delta_2) + p\alpha \wedge \beta + q\delta_1 \wedge \delta_2.$$

On the other hand, from (9), (3') and (5') we obtain  $f_2 - f_3 = s\beta$  for some  $s \in \mathbf{R}$ , and so

$$(12) \quad f_3 = (t - s)\beta.$$

From (9) and (12), condition (5') becomes :

$$(5'') \quad d\mu_2 = 0.$$

It is easy to get :

$$(13) \quad f_1 \wedge f_3 = d((t-s)\gamma_2 \wedge (q\delta_1 - \frac{1}{2}\gamma_1)).$$

From (9), (11), (5'') and (13), conditions (4') and (6') become

$$(4'') \quad (t+q)\beta \wedge \delta_1 \wedge \delta_2 - \frac{1}{2}\beta \wedge (\gamma_2 \wedge \delta_1 - \gamma_1 \wedge \delta_2) = d\mu_1,$$

$$(6'') \quad -[\delta_1 \wedge \delta_2] \wedge [\mu_2] + [\mu_1 \wedge \beta] = 0.$$

But, we can check that  $\beta \wedge \delta_1 \wedge \delta_2 = d(-\gamma_1 \wedge \delta_2)$  and  $\beta \wedge (\gamma_2 \wedge \delta_1 - \gamma_1 \wedge \delta_2) = d(\gamma_1 \wedge \gamma_2)$ . These equations and (4'') imply that there is a closed differential form  $\mu'_1$  such that  $\mu_1 = -(t+q)\gamma_1 \wedge \delta_2 - \frac{1}{2}\gamma_1 \wedge \gamma_2 + \mu'_1$ , and thus  $[\mu_1 \wedge \beta] = -(t+q)[\gamma_1 \wedge \delta_2 \wedge \beta] - \frac{1}{2}[\gamma_1 \wedge \gamma_2 \wedge \beta] + [\mu'_1] \wedge [\beta]$ . Then, condition (6'') becomes :

$-[\delta_1 \wedge \delta_2] \wedge [\mu_2] - (t+q)[\gamma_1 \wedge \delta_2 \wedge \beta] - \frac{1}{2}[\gamma_1 \wedge \gamma_2 \wedge \beta] + [\mu'_1] \wedge [\beta] = 0$ . So, the cohomology class  $[\gamma_1 \wedge \gamma_2 \wedge \beta]$  belongs to  $[\beta]H^2(M^6, \mathbf{R}) + [\delta_1 \wedge \delta_2]H^1[M^6, \mathbf{R}]$ , which is generated by  $\{[\beta \wedge \gamma_1 \wedge \delta_2], [\alpha \wedge \delta_1 \wedge \delta_2]\}$ . This is impossible because the family  $\{[\gamma_1 \wedge \gamma_2 \wedge \beta], [\beta \wedge \gamma_1 \wedge \delta_2], [\alpha \wedge \delta_1 \wedge \delta_2]\}$  is free.

REMARK 3. Theorem 3.2 also proves that  $M^6$  does not admit Kähler structures.

Next, we shall prove that the minimal model of the complex of left invariant differential forms of  $G_2$  ( $G_2 = H \times S^1$ , where  $H$  is the Lie group of dimension 7 constructed in Remark 1) is formal, but it does not verify the Hard Lefschetz Theorem (see [6]). Then a compact manifold of the form  $I/G_2$  could not be Kähler. Unfortunately we do not know if  $G_2$  admits a cocompact subgroup.

**Proposition 3.2.** *The complex of the left invariant differential forms of  $G_2$  is formal.*

Proof. We need to show that the d.g.c.a.  $(\Lambda \mathcal{G}_2^*, d_2)$ , made up of the left invariant differential forms of  $G_2$ , and the d.g.c.a.  $(H^*(\mathcal{G}_2, \mathbf{R}), 0)$  have the same minimal model. We first recall the structure of  $(\Lambda \mathcal{G}_2^*, d_2)$  and  $H^*(\mathcal{G}_2, \mathbf{R})$  (cf. [6]). A basis of  $\mathcal{G}_2^*$  is the family  $\{\alpha, \beta, \mu_1, \nu_1, \xi_1, \mu_2, \nu_2, \xi_2\}$  and the differential operator  $d$  is given by

$$\begin{aligned} d\alpha &= 0 & d\beta &= 0 \\ d\mu_1 &= -\alpha \wedge \mu_1, & d\mu_2 &= \alpha \wedge \mu_2, \\ d\nu_1 &= 2\alpha \wedge \nu_1, & d\nu_2 &= -2\alpha \wedge \nu_2, \\ d\xi_1 &= \alpha \wedge \xi_1 - \mu_1 \wedge \nu_1, & d\xi_2 &= -\alpha \wedge \xi_2 - \mu_2 \wedge \nu_2. \end{aligned}$$

On the other hand, the cohomology of  $\mathcal{G}_2$  can be written as a product  $\Lambda\{[\alpha], [\beta]\} \otimes \mathcal{A}$  where  $\mathcal{A}$  is the following gca :

$$\begin{aligned}\mathcal{A}^0 &= \{1\}, \\ \mathcal{A}^2 &= \{[\mu_1 \wedge \mu_2], [\nu_1 \wedge \nu_2], [\mu_1 \wedge \xi_1], [\mu_2 \wedge \xi_2]\}, \\ \mathcal{A}^4 &= \{[\nu_1 \wedge \nu_2 \wedge \xi_1 \wedge \xi_2], [\mu_1 \wedge \xi_1 \wedge \nu_1 \wedge \nu_2], [\nu_1 \wedge \nu_2 \wedge \mu_2 \wedge \xi_2], [\mu_1 \wedge \xi_1 \wedge \mu_2 \wedge \xi_2]\}, \\ \mathcal{A}^6 &= \{[\nu_1 \wedge \nu_2 \wedge \mu_1 \wedge \xi_1 \wedge \mu_2 \wedge \xi_2]\},\end{aligned}$$

and  $\mathcal{A}^1 = \mathcal{A}^3 = \mathcal{A}^5 = 0$ . Consider  $\varphi : (\Lambda Z, d) \longrightarrow \mathcal{A}$  the bigraded model of  $\mathcal{A}$  (cf. [15]). A straightforward calculation gives

$$\begin{array}{ccccccc} & & & & & & Z_0^6 = \{0\} \\ & & & & & & Z_1^5 = \{f\} & Z_0^5 = \{0\} \\ & & & & & & Z_1^4 = \{h_j\} & Z_0^4 = \{e\} \\ & & & Z_2^4 = \{x_i, y_j, z_j\} & & & Z_1^3 = \{c_i, g_j\} & Z_0^3 = \{0\} \\ & & Z_3^3 = \{0\} & Z_2^3 = \{0\} & & & Z_1^2 = \{0\} & Z_0^2 = \{b_i\} \\ & Z_4^2 = \{0\} & Z_3^2 = \{0\} & Z_2^2 = \{0\} & & & Z_1^1 = \{0\} & Z_0^1 = \{0\} \\ Z_5^1 = \{0\} & Z_4^1 = \{0\} & Z_3^1 = \{0\} & Z_2^1 = \{0\} & & & & & \end{array}$$

with

$$\begin{aligned}db_i &= de = 0, \\ dc_i &= b_i^2, \\ dg_j &= b_1 b_j, \\ dh_j &= eb_j, \\ df &= b_2 b_3 b_4 - eb_1, \\ dx_i &= b_1 c_i - b_i g_i, \\ dy_j &= b_j c_1 - b_1 g_j, \\ dz_j &= b_k g_l - b_l g_k,\end{aligned}$$

$1 \leq i \leq 4$ ,  $(j, k, l)$  any permutation of  $(2, 3, 4)$ , and

$$\begin{aligned}\varphi(b_1) &= [\mu_1 \wedge \mu_2], \quad \varphi(b_2) = [\mu_1 \wedge \xi_1], \quad \varphi(b_3) = [\mu_2 \wedge \xi_2], \quad \varphi(b_4) = [\nu_1 \wedge \nu_2], \\ \varphi(e) &= [\nu_1 \wedge \nu_2 \wedge \xi_1 \wedge \xi_2].\end{aligned}$$

We construct a d.g.c.a.-morphism  $\psi : \Lambda(\{\alpha, \beta\}, 0) \otimes (\Lambda Z, d) \longrightarrow (\Lambda \mathcal{G}_2^*, d)$  inducing an isomorphism in cohomology. This will end the proof. Put

$$\begin{aligned}\psi(\alpha) &= \alpha, \quad \psi(\beta) = \beta, \\ \psi(b_1) &= \mu_1 \wedge \mu_2, \quad \psi(b_2) = \mu_1 \wedge \xi_1, \quad \psi(b_3) = \mu_2 \wedge \xi_2, \quad \psi(b_4) = \nu_1 \wedge \nu_2, \\ \psi(e) &= \nu_1 \wedge \nu_2 \wedge \xi_1 \wedge \xi_2, \\ \psi(g_4) &= \mu_1 \wedge \nu_1 \wedge \xi_2, \\ \psi(\text{other generators}) &= 0.\end{aligned}$$

This map extends naturally to a g.c.a.-morphism  $\psi : (\Lambda\{\alpha, \beta\}, 0) \otimes (\Lambda Z, d) \longrightarrow (\Lambda \mathcal{G}_2^*, d)$ . It remains to prove that  $\psi$  is a differential operator and that  $\psi^*$  is an isomorphism.

- A direct calculation shows that  $\psi(dx) = d\psi(x)$  for  $x = \alpha, \beta$  and for each generator  $x \in \bigcup_{p+q \leq 6} (\Lambda Z)_q^p$ . Consider  $x \in Z_q^p$  a generator with  $p+q > 6$ ; by

definition of  $\psi$  we have  $\psi(x)=0$ . Since  $dZ_q^p \subset (\Lambda Z)_q^{p+1}$  the writing of  $dx$  does not contain any of the following monomials :

$b_i, e, g_4, b_1e, b_1b_4, b_2b_4, b_3b_4$ . By construction the operator  $\psi$  vanishes when is evaluated on the other monomials of  $Z$ . We conclude that  $\psi(dx)$  is 0.

●  $\psi^*$  is an isomorphism because

$$\begin{aligned} \psi^*[\alpha] &= [\alpha], \\ \psi^*[\beta] &= [\beta], \\ \psi^*[b_1] &= [\mu_1 \wedge \mu_2], \\ \psi^*[b_2] &= [\mu_1 \wedge \xi_1], \\ \psi^*[b_3] &= [\mu_2 \wedge \xi_2], \\ \psi^*[b_4] &= [\nu_1 \wedge \nu_2], \\ \psi^*[e] &= [\nu_1 \wedge \nu_2 \wedge \xi_1 \wedge \xi_2]. \quad \blacksquare \end{aligned}$$

#### 4. The moduli space of complex structures on $M^6$

First, let us recall the following lemma [1] :

**Lemma 4.1.** *Let  $G$  be a (real) Lie group of (real) dimension  $2n$ . Then the space of left invariant almost complex structures on  $G$  has dimension  $2n^2$ .*

In our case the space of left invariant almost complex structures on  $G$  has dimension 18. This lemma gives no information about left invariant complex structures, but since  $G$  has a canonical parallelization, it is extremely easy to determine when a left invariant almost complex structure is integrable.

We set

$$E_1 = T, E_2 = X, E_3 = Y_1, E_4 = Y_2, E_5 = Z_1, E_6 = Z_2.$$

Let  $J$  be a left invariant almost complex structure on  $G$ . Then  $J$  has constant coefficients with respect to the basis  $\{E_1, E_2, E_3, E_4, E_5, E_6\}$ . Write

$$JE_j = \sum_{k=1}^6 a_{jk} E_k,$$

where the  $a_{jk}$  are constants. The Nijenhuis tensor  $N_J$  of  $J$  is defined by

$$N_J(U, V) = [JU, JV] - J[JU, V] - J[U, JV] - [U, V],$$

for all vector fields  $U, V$  on  $G$ .

**Proposition 4.1.**  *$G$  has no left invariant complex structures. Equivalently, the manifold  $M^6$  has no complex structures with constant coefficients with respect to the canonical parallelization  $\{E_1, E_2, E_3, E_4, E_5, E_6\}$ .*

Proof. Let  $J$  be a left invariant integrable almost complex structure on  $G$ . Below, we shall prove that the matrix of  $J$  with respect to the basis  $\{E_i, 1 \leq i \leq 6\}$  must have the form

$$(4.1) \quad J = \begin{pmatrix} a_{11} & a_{12} & a_{13} & a_{14} & a_{15} & a_{16} \\ a_{21} & a_{22} & a_{23} & a_{24} & a_{25} & a_{26} \\ 0 & 0 & a_{33} & a_{34} & a_{35} & a_{36} \\ 0 & 0 & a_{43} & a_{44} & a_{45} & a_{46} \\ 0 & 0 & a_{53} & a_{54} & a_{55} & a_{56} \\ 0 & 0 & a_{63} & a_{64} & a_{65} & a_{66} \end{pmatrix}$$

Let us suppose (4.1). Since  $J^2 = -I$ , we obtain

$$(4.2) \quad a_{11}^2 + a_{12}a_{21} = a_{22}^2 + a_{12}a_{21} = -1,$$

$$(4.3) \quad a_{12}(a_{11} + a_{22}) = a_{21}(a_{11} + a_{22}) = 0,$$

and so  $a_{12}, a_{21}$  are non-zero, and  $a_{11} + a_{22} = 0$ .

Moreover, we have

$$\begin{aligned} 0 &= N_J(E_2, E_3) \\ &= (a_{22}a_{35} - a_{33}a_{35} - a_{36}a_{43})E_3 + (-2a_{21}a_{34} + a_{22}a_{36} - a_{34}a_{35} - a_{36}a_{44})E_4 \\ &\quad - (a_{35}^2 + a_{36}a_{45})E_5 - a_{36}(2a_{21} + a_{35} + a_{46})E_6, \end{aligned}$$

$$\begin{aligned} 0 &= N_J(E_2, E_4) \\ &= (2a_{21}a_{43} + a_{22}a_{45} - a_{33}a_{45} - a_{43}a_{46})E_3 + (a_{22}a_{46} - a_{34}a_{45} - a_{44}a_{46})E_4 \\ &\quad + a_{45}(2a_{21} - a_{35} - a_{46})E_5 - (a_{46}^2 + a_{36}a_{45})E_6. \end{aligned}$$

These equations imply

$$(4.4) \quad a_{35}^2 = -a_{36}a_{45},$$

$$(4.5) \quad 0 = a_{36}(2a_{21} + a_{35} + a_{46}),$$

$$(4.6) \quad a_{45}(a_{22} - a_{33}) = a_{43}(a_{46} - 2a_{21}),$$

$$(4.7) \quad 0 = a_{45}(2a_{21} - a_{35} - a_{46}),$$

$$(4.8) \quad a_{46}^2 = -a_{36}a_{45}.$$

From (4.4) and (4.8) we obtain

$$(4.9) \quad a_{46} = \pm a_{35}.$$

Assume that  $a_{46} = -a_{35}$ . Since  $a_{21} \neq 0$ , then (4.5) and (4.7) imply  $a_{36} = a_{45} = 0$ . Again (4.4) and (4.8) imply  $a_{35} = a_{46} = 0$ . Now, from (4.6) it follows that  $a_{43} = 0$ ; and so  $JE_4 = a_{44}E_4$ . This implies  $a_{44}^2 = -1$ , which is a contradiction. Thus, (4.9) must be

$$(4.10) \quad a_{46} = a_{35}.$$

From (4.10), (4.5) and (4.7) we have

$$(4.11) \quad \begin{aligned} a_{36}(a_{21} + a_{35}) &= 0, \\ a_{45}(a_{21} - a_{35}) &= 0, \end{aligned}$$

or equivalently

$$(4.12) \quad \begin{aligned} a_{36}a_{21} &= -a_{36}a_{35}, \\ a_{45}a_{21} &= a_{35}a_{45}. \end{aligned}$$

Then, from (4.4) and (4.12) we obtain

$$a_{35}^3 = -a_{36}a_{45}a_{35} = a_{21}a_{36}a_{45} = a_{35}a_{36}a_{45} = -a_{35}^3,$$

that is  $a_{35} = 0$ . Thus  $a_{46} = 0$ . But  $a_{21} \neq 0$  and (4.12) imply  $a_{36} = a_{45} = 0$ . Now,  $a_{21} \neq 0$  and (4.6) imply  $a_{43} = 0$ , and hence  $JE_4 = a_{44}E_4$ , which is not possible. Therefore,  $G$  carries no left invariant integrable almost complex structures.

Finally we shall give a proof of (4.1): For this we shall show: (I)  $a_{41} = 0$ , (II)  $a_{31} = 0$ , (III)  $a_{61} = 0$ , (IV)  $a_{42} = 0$ , (V)  $a_{51} = 0$ , (VI)  $a_{32} = 0$ , (VII)  $a_{52} = 0$ , and (VIII)  $a_{62} = 0$ .

From (2.2) we have

$$(4.13) \quad \begin{aligned} 0 &= N_f(E_3, E_4) \\ &= 2a_{31}a_{41}E_1 + (a_{31}a_{42} + a_{32}a_{41})E_2 + (2a_{31}a_{43} + a_{32}a_{45} \\ &\quad - a_{35}a_{42})E_3 + (2a_{34}a_{41} + a_{32}a_{46} - a_{36}a_{42})E_4 + 2a_{31}a_{45}E_5 + 2a_{36}a_{41}E_6. \end{aligned}$$

To prove (I), let us suppose that  $a_{41} \neq 0$ . Then from (4.13), equating to zero the coefficients of  $E_1$ ,  $E_2$ ,  $E_6$  and  $E_4$ , it follows

$$(4.14) \quad a_{31} = a_{32} = a_{34} = a_{36} = 0.$$

Also, from (4.13) we have  $a_{35}a_{42} = 0$ . If  $a_{35} = 0$ , then  $JE_3 = a_{33}E_3$ , and so  $a_{33}^2 = -1$ , which is a contradiction. Thus, we get

$$(4.15) \quad a_{35} \neq 0 \text{ and } a_{42} = 0.$$

Since  $J^2 = -I$  and  $JE_3 = a_{33}E_3 + a_{35}E_5$  we have

$$(4.16) \quad a_{51} = a_{52} = a_{54} = a_{56} = a_{12} = a_{33} + a_{55} = 0.$$

From (4.14) and (4.16) we obtain

$$(4.17) \quad \begin{aligned} 0 &= N_f(E_2, E_5) \\ &= \{a_{22}(a_{55} - a_{33}) - a_{33}a_{55} - 1\}E_3 - a_{35}(a_{22} + a_{55})E_5. \end{aligned}$$

Since  $a_{35} \neq 0$ , from (4.16) and (4.17) we get

$$a_{22} + a_{55} = 0 \text{ and } 2a_{22}a_{55} + a_{55}^2 - 1 = 0.$$

These equations imply  $a_{55}^2 = -1$ , which a contradiction. This proves (I).

(II) Let us suppose that  $a_{31} \neq 0$ . Then from (4.13) and (I) we obtain

$$(4.18) \quad a_{42} = a_{43} = a_{45} = 0.$$

From (I), (2.2) and (4.18) it follows that

$$0 = N_J(E_2, E_4) = a_{46}(a_{22} - a_{44})E_4 - a_{46}^2 E_6.$$

This identity implies that  $a_{46} = 0$ . Then, from (I) and (4.18) we obtain  $JE_4 = a_{44}E_4$  which is not possible.

To prove (III), we suppose that  $a_{61} \neq 0$ . Then, from (I) and (II) we obtain that the coefficient of  $E_1$  in  $N_J(E_5, E_6)$  is  $2a_{51}a_{61}$ , and hence, we get

$$(4.19) \quad a_{51} = 0.$$

From (I), (II) and (4.19) we deduce that the coefficient of  $E_1$  in  $N_J(E_2, E_6)$  and in  $N_J(E_1, E_3)$  is  $a_{21}a_{61}$  and  $-a_{36}a_{61}$ , respectively. Thus, we have

$$(4.20) \quad a_{21} = a_{36} = 0.$$

From (4.20) we conclude that the coefficient of  $E_5$  in  $N_J(E_2, E_3)$  is  $-a_{35}^2$ . Thus, we get

$$(4.21) \quad a_{35} = 0.$$

From (I), (II) and (4.21) we deduce that the coefficient of  $E_2$  in  $N_J(E_3, E_5)$  is  $-a_{32}^2$ . Thus, we get

$$(4.22) \quad a_{32} = 0.$$

From (4.22) we have

$$0 = N_J(E_3, E_6) = 2a_{34}a_{61}E_4.$$

This equation implies that

$$(4.23) \quad a_{34} = 0.$$

Now, from (I), (II) and (4.20)-(4.23) we have  $JE_3 = a_{33}E_3$ , which is not possible; and we obtain (III).

To prove (IV), we compute the coefficient of  $E_2$  in  $N_J(E_4, E_6)$  and we obtain  $-a_{42}^2 E_2 = 0$ , from which we deduce (IV).

To prove (V), let us suppose that  $a_{51} \neq 0$ . Then from (IV) we deduce that the coefficient of  $E_1$  in  $N_J(E_2, E_5)$  is  $-a_{21}a_{51}$ , from which we deduce

$$(4.24) \quad a_{21} = 0.$$

Moreover we have that the coefficient of  $E_1$  in  $N_J(E_1, E_6)$  and in  $N_J(E_1, E_3)$  is  $-a_{51}a_{65}$  and  $-a_{35}a_{51}$ , respectively, from which we get

$$(4.25) \quad a_{35} = a_{65} = 0.$$

Also we have that the coefficient of  $E_1$  in  $N_J(E_1, E_2)$  is  $-a_{25}a_{51}$ , and that the coefficient of  $E_5$  in  $N_J(E_4, E_5)$  is  $-2a_{45}a_{51}$ , from which we obtain

$$(4.26) \quad a_{25} = a_{45} = 0.$$

Now, from (I), (II) and (4.26), we obtain

$$0 = N_J(E_3, E_4) = a_{32}a_{46}E_4,$$

and so  $a_{32}a_{46} = 0$ . Suppose that  $a_{32} \neq 0$  and  $a_{46} = 0$ . Then  $JE_4 = a_{43}E_3 + a_{44}E_4$ , and since  $J^2 = -I$ , we find

$$(4.27) \quad \begin{aligned} a_{43}a_{32} &= 0, \\ a_{43}a_{34} + a_{44}^2 &= -1. \end{aligned}$$

Because  $a_{32} \neq 0$ , (4.27) implies  $a_{43} = 0$  and  $a_{44}^2 = -1$ . But it is not possible. Thus, it must be  $a_{32} = 0$ . From this identity, (4.26), and equating to zero the coefficient of  $E_2$  in  $N_J(E_1, E_2)$ , we get

$$(4.28) \quad a_{26}a_{62} = 0.$$

Thus, if  $a_{51} \neq 0$ , from (I)-(IV), (4.24), (4.25), (4.26) and  $a_{32} = 0$ , it follows that the matrix of  $J$  is of the form

$$J = \begin{pmatrix} a_{11} & a_{12} & a_{13} & a_{14} & a_{15} & a_{16} \\ 0 & a_{22} & a_{23} & a_{24} & 0 & a_{26} \\ 0 & 0 & a_{33} & a_{34} & 0 & a_{36} \\ 0 & 0 & a_{43} & a_{44} & 0 & a_{46} \\ a_{51} & a_{52} & a_{53} & a_{54} & a_{55} & a_{56} \\ 0 & a_{62} & a_{63} & a_{64} & 0 & a_{66} \end{pmatrix}$$

From (4.28) and  $J^2 = -I$  we obtain  $a_{22}^2 = -1$ , which is not possible. Thus, we have (V).

To prove (VI) we compute the coefficients of  $E_2$  and  $E_5$  in  $N_J(E_3, E_5)$ . They are  $-(a_{32}^2 + a_{35}a_{52})$  and  $-a_{32}a_{35}$ , respectively. Then we deduce (VI).

To prove (VII), let us suppose that  $a_{52} \neq 0$ . If we compute the coefficient of  $E_2$  in  $N_J(E_2, E_5)$ , then we obtain  $-a_{21}a_{52} = 0$ , which implies that  $a_{21} = 0$ . Thus, if  $a_{52} \neq 0$ , according to (I)-(VI), the matrix of  $J$  would be :

$$(4.29) \quad J = \begin{pmatrix} a_{11} & a_{12} & a_{13} & a_{14} & a_{15} & a_{16} \\ 0 & a_{22} & a_{23} & a_{24} & a_{25} & a_{26} \\ 0 & 0 & a_{33} & a_{34} & a_{35} & a_{36} \\ 0 & 0 & a_{43} & a_{44} & a_{45} & a_{46} \\ 0 & a_{52} & a_{53} & a_{54} & a_{55} & a_{56} \\ 0 & a_{62} & a_{63} & a_{64} & a_{65} & a_{66} \end{pmatrix},$$

and, since  $J^2 = -I$ , we obtain  $a_{11}^2 = -1$ , which is a contradiction. This proves (VII).

Finally, to prove (VIII), let us suppose that  $a_{62} \neq 0$ . If we compute the

coefficient of  $E_2$  in  $N_J(E_2, E_6)$ , then we obtain  $a_{21}a_{62}=0$ , which implies that  $a_{21}=0$ . Then, if  $a_{62}\neq 0$ , the matrix of  $J$  is of the form (4.29). Again we have a contradiction. This proves (VIII), and the proof of (4.1) is completed.

---

#### References

- [1] L.C. de Andrés, M. Fernández, A. Gray and J.J. Mencía : *Moduli spaces of complex structures on compact four dimensional nilmanifolds*, Bolletino U. M. I. (7) 5-A (1991), 381-389.
- [2] L.C. de Andrés, M. Fernández, M. de León and J.J. Mencía : *Some six dimensional compact symplectic and complex solvmanifolds*, Rendiconti di Matematica, Serie VII, **12** (1992), 59-67.
- [3] L. Auslander : *Some compact solvmanifolds and locally affine spaces*, J. Math. Mech. **7** (1958), 963-975.
- [4] L. Auslander and R.H. Szczarba : *Vector bundles over tori and noncompact solvmanifolds*, Amer. J. Math. **97** (1975), 260-281.
- [5] Ch. Benson and C. Gordon : *Kähler and symplectic structures on nilmanifolds*, Topology **27** (1988), 513-518.
- [6] Ch. Benson and C. Gordon : *Kähler structures on solvmanifolds for completely solvable Lie groups*, Proc. Amer. Math. Soc. **108** (4)(1990), 971-990.
- [7] L.A. Cordero, M. Fernández and A. Gray : *Compact symplectic manifolds not admitting positive definite Kähler metrics, to appear in Proc. Intern. Cong. on Topology and its Appl., Baku, 1987*.
- [8] L.A. Cordero, M. Fernández and A. Gray : *Lie groups with no left invariant complex structures*, Portugaliae Mathematica **47-2**(1990), 183-190.
- [9] L.A. Cordero, M. Fernández, M. de León and M. Saralegui : *Compact symplectic four solvmanifolds without polarizations*, Annales de la Faculté des Sciences de Toulouse, vol. **X-2** (1989), 193-198.
- [10] P. Deligne, P. Griffiths, J. Morgan and D. Sullivan : *Real homotopy theory of Kähler manifolds*, Invent. Math. **29**(1975), 245-274.
- [11] M. Fernández and A. Gray : *Compact symplectic four dimensional solvmanifolds not admitting complex structures*, Geometriae Dedicata **34**(1990), 295-299.
- [12] K. Hasegawa : *Minimal models of nilmanifolds*, Proc. Amer. Math. Soc. **106-1**(1989), 65-71.
- [13] A. Hattori : *Spectral sequence in the de Rham cohomology of fibre bundles*, J. Fac. Sci. Univ. Tokyo (**8**) Sect. 1(1960), 289-331.
- [14] G. Hector and U. Hirsch : *Introduction to the Geometry of Foliations, Part A, Aspects of Math.*, Friedr. Vieweg & Sohn, 1981.
- [15] S. Halperin and J. Stasheff : *Obstructions to Homotopy Equivalences*, Adv. in Math. **32-3** (1979), 233-279.
- [16] D. McDuff : *The moment map for circle actions on symplectic manifolds*, JGP (**5**)-2 (1988), 149-160.
- [17] H. Samelson : *A class of complex analytic manifolds*, Portugaliae Mathematica **12-4** (1953), 129-132.
- [18] D. Tanré : *Homotopie Rationnelle : Modèles de Chen, Quillen, Sullivan*, Lecture Notes in Math. **1025**, Springer-Verlag, Berlin, 1983.
- [19] M. Ue : *Geometric 4-manifolds in the sense of Thurston and Seifert 4-manifolds I*, J. Math. Soc. Japan **42-3** (1990), 511-540.
- [20] A. Weil : *Introduction a l' étude des variétés kähleriennes*, Hermann, Paris, 1958.
- [21] K. Yamato : *Examples of non-Kähler symplectic manifolds*, Osaka J. Math., **27** (1990), 431-439.

M. Fernández  
Departamento de Matemáticas  
Facultad de Ciencias  
Universidad del País Vasco  
Apartado 644, Bilbao, Spain  
e-mail : MTPFEROL@LG.EHU.  
ES

M. de León  
Instituto de Matemáticas y  
Física Fundamental  
Consejo Superior de Investigaciones  
Científicas  
Serrano 123, 28006 Madrid, Spain  
e-mail : MDELEON@PINARI.  
CSIC. ES

M. Saralegui  
Département de Mathématiques  
CNRS URA 751  
Faculté des Sciences Jean Perrin  
Université d'Artois  
rue Jean Souvraz SP 18  
62307 Lens Cedex, France  
e-mail : SARALEGI @ GAT.  
UNIV-LILLE1. FR

